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Question I: (6 points)
Duestion Number 1 2 3 4 5 [

Answer o b c o C a

Choose the correct answer, then fill in the table above:

(1) If f is smooth and f(x) = 0 on [a, b], then the area 5 of the surface generated by revolving the graph of
[ about the x — axis is

(@) 2 [° £ () JT+ [ QOT dx () 2n [} JT+ [FGOP dx
(c) Zm f: f)J1+[f(x)]F dx (d) None of the previous

(2) If "2 = 4 then x equals

(a) 1 (b) 2
ic)4 {d) None of the previous




Question II: (3+1.5 points)
A. Use logarithmic differentiation to find %’ , for the function

: (x—=2)(x* +3)°
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B. If f(x) = sec”(sinhx), Find f'(x)
Cosh x -

4 -
L ix)2 | -
ciahp e \




Question I11: (3+1.5 points)

A. Find the arc length of f(x) = coshx, 0 < x < 1. |
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B. Solve for x

Injx2 —1|=In|Jx=1] =0

Jo \x\ = ¢

L (g/ﬂ,)(xﬂ) \ - 6

_—-———'__--_

% <\
Vo TR 4> =R
walz |

A=D



Question IV: { 10 points)

Evaluate the following integrals: - \ ¢l »
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(4) [ tan®x sec*x dx
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(5) [xcosx dx
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